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integer I, N;

READINTEGER(N); EPS:=;,—8;

for I: =1 step 1 until N do

begin READREAL(A); READREAL(B);

READREAL(C); CRLF;
PRINTREAL(A); PRINTREAL(B);
PRINTREAL(C); CRLF;
if C=0 then begin X1:=0; P:=A/2.0;
Q:=B; go to X1TYPE
end;
if C>0 then begin Al:=—A; Cl:=-C
end
else begin A1:=A; C1:=C end;

YAMAUTI: V:=EXP(LN(—-C1)/3.0);
T:=A1xV+B;
if T>0 then
begin F: =B—0.5625xV xV;

R:=FxF+3.875xC1x(A1+1.5xV);
if A1+1.5xV=0 then
X1:=0.96875xC 1/F else
X1:=(—F+SQRT(R))/(A1+1.5xV)/2.0
end
else if T<O0 then
begin F:=A1+0.5625xV ;
R:=FxF—(B-1.5xVxV)x3.875;
X 1:=(—F+SQRT(R))/1.9375
end
else X1:=V;
if C>0 then X1:=-X1;

NEWTON: G1:=((A+X1)xX1+B)xX1+C;
G2:=(2.0xA+3.0xX1)xX1+B;
X2:=X1-G1/G2;

X 3:=ABS((X2-X1)/X1);
CRLF; PRINTREAL(X1);
PRINTREAL(G 1); PRINTREAL(G 2);
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CRLF; PRITREAL(X 2); PRINTREAL(X 3);

X1:=X2;

if X3>EPS then go to NEWTON;

P:=A+X1; Q:=B+PxX1; P:=P/2.0;
X1TYPE: CRLF; PRINTREAL(X 1);
QUADRATIC: D:=PxP-Q;

if D=0 then
begin W:=SQRT(D); X2:=—P+W; X3:=
—P—-—W;
CRLF; PRINTREAL(X 2); CRLF;
PRINTREAL(X 3)
end
else

begin X 2:=—P; X3:=SQRT(-D);
CRLF; PRINTREAL(X 2);
PRINTSTRING(‘+-—");
PRINTREAL(X 3); PRINTSTRING('T")
end
end

end
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THRESHOLD JACOBI METHOD:

begin integer N, VECTOR, I;
array LAMDA[1 :5], A[0:39];
real MINMAX, EPS;
procedure JACOBI(N, A, VECTOR, MINMAX,
EPS, LAMDA);
value N, VECTOR, MINMAX, EPS;
array A, LAMDA ; real MINMAX, EPS;
integer N, VECTOR;
begin integer M, N1, N2, I, ROW, ROUTE,
UPDOWN, 1J, II, JJ, J, ROUTEI,
ROUTE]J, K;
real THRESH, AIl, AlJ, AJJ, DIJ, COSPHI,

+.00000 00000 —19. —.20634
—.50650 39499 +00. .16154
—.50363 60151 +00. .56622
—.50363 60151 +00. .12474
—.50361 35223 +00. .44 660
—.50361 35223 +00. .75851
—.50361 35209 +00. .26583
—.50361 35209 +00.

+.37880 78319 +00.

+.12480 56890 +00.

92060 +00. +.23809 52400 —O01.
77720 —02. +.56328 95479 +00.
16096 —02.
49109 —04. +.55459 85012 +00.
89891 —04.
85813 —09. +.55453 05335 +00.
40457 --08.
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SINPHI, HFCS2P, HFSN2P, SQ,
RADIUS;
M:=(Nx(N+1)) div 2;
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begin N1:=N+1; N2:=N12-1;
for I:=N2 step —1until 0 do
A[M+I1]:=0;
for I: =N 2 step—N 1 until 0 do
A[M+1]:=0.99999 99999 ;
ROW:=N+N; ROUTE: =M+N12
end else

begin ROW:=N; ROUTE:=M end;
THRESH: =MINMAX ;

CYCLE: UPDOWN: =
1J:=M
for I:=N—1 step —1 until 1 do
begin II: =1J:=JJ:=1J—1;

for J:=I—1 step —1 until 0 do
begin 1J:=1J—1; JJ:=JJ—-(J+2);
AlJ:=A[IJ];
if ABSCAIJ)<THRESH then go to CONT;
UPDOWN:=-1;
All: =A[Il]x0.5; AJJ:=A[JJ]1x0.5;
DIJ:=AJJ—AIl;
if ABSCAIJ)=ABS(DI]) then
begin HFCS2P :=(DIJ x0.5)/AlJ;
if HFCS2P<0 then
begin HFCS2P: = —HFCS2P ; HFSN2P
:=-—0.5 end else HFSN2P: =0.5;
SQ: =HFCS2P12;
if SQ=0 then go to PHII else go to PHI2
end else
begin HFCS2P: =0.5;
HFSN2P:=(AIJ x0.5)/DIJ;
SQ: =HFSN2P12;
if SQ=0 then
begim COSPHI: =0.99999 99999 ; go to SN
end
end ;

PHI2: RADIUS: =SQRT(0.25+SQ) ;
HFCS2P: =(HFCS2P x 0.5)/RADIUS ;
HFSN2P: =(HFSN2P x 0.5)/RADIUS ;

PHI1: COSPHI: =SQRT(0.5+HFCS2P) ;

SN: SINPHI: =HFSN2P/COSPHI ;

ROUTEI: =ROUTE+I;
ROUTEJ:=ROUTE+]J;

for K: =ROW step —1 until 1 do
begin if N<K then
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begin ROUTEI: =ROUTEI—-N; ROUTE]
:=ROUTEJ—N; go to ROT
end;
if I<K then
begin ROUTEI: =ROUTEI-K; go to JK
end;

ROUTE I: =ROUTE I-1;
if J<Kthen JK: ROUTEJ: =ROUTEJ—-K
else ROUTEJ: =ROUTEJ—1;

DNAT. N —_AMMATITINT .
R[UL I O =ARUULEL];

A[ROUTEI]: =SQ x COSPHI—-A[ROUTE]]
x SINPHI ;

A[ROUTEJ]}: =A[ROUTE]J] x COSPHI +
SQ x SINPHI

end K;

AlJ: =DIJ x HFCS2P+ AlI] x HFSN2P;

AlJ: =AIJ+AlJ;

A[II}:=AIl-AIJ+AJJ;

All]}:=0;
A[JJ]: =AIll+AIJ+AJ);
CONT:
end J
end I;

if EPS<THRESH then

begin THRESH: =THRESH x0.1; go to
CYCLE end;

if UPDOWN<O0 then go to CYCLE;

II:=M-1;

for I: =N step —1 until 1 do
begin LAMDA[I]:=A[II]; II: =II-1 end
end JACOBI;
START : READINTEGER(N);
for I: =0 step 1 until (Nx(N+1)) div 2—1
do READREAL(CA[ID):
READREAL(MINMAX);
VECTOR:=1;
EPS:=0.0000001;
JACOBI(N, A, VECTOR, MINMAX, EPS,
LAMDA);
for I: =1 step 1 until N do PRINTREAL
(LAMDAI(I));
for :=(Nx(N+1)) div 2 step 1
until (Nx (N+1) div 2+ N12—-1 do
PRINTREALCA[ID
end



